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Instructions
2. Section A has 20 Multiple Choice Questions

4. Section C has 6 Short Answer-ll (SA-II) Typ

6. Section E has 3 Case Based integrated un

7-'Aﬂquesﬁonsare:'com isc |
questions of Smarksandpgquewsﬁons

been provided in the 2 marks questions of

1. This question paper has 5 Sections A, B,C.D

3. Section B has 5 Short Answer-| (SA-l) TYPe Ques
e Questions ca

5. Section D has 4 Long Answer (LA) Type Questions
6. Section E h 7 its of assessment
parts of the values of 1, 1 and 2 marks each respectively.
ever, an internal choice |
of 5 marks has been
Section E

8. Draw neat figures wherever required. Take 7

L e

and E.
(MCQs) carryin
tions carmyin
rrying 3 marks each.

5 marks each.

(4 marks each) with sub-

g 2 marks each.

carrying

n 2 questions of 2 marks, 2

provided. An internal choice has

= 22/7 wherever required if not stated.
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2. A point
P to the circle is
i_” ;.v}m_\@,ﬁfz.‘w{p,bz)w

.:_@'),_‘N'one of these

ctois gth of the tangent drawn from



©5 (d) None of these

(a) VAT
4n AP is -7 and the common difference is 5. Its 18th term is

first term 4
(:J‘;’;‘ & (b) 92 (c) 83 (d) 78

8. C is the mid-point of PQ, if P is (4, x), C is (y, -1) and Q is (-2, 4), then x and y

mﬂ‘“""y are
(b)-6and 2 (c) 6 and -1 (d)6and -2
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' 16. The mean of the following distribution is
P
P— 12 14 18 2
3 3

5 8 7
(a) 19.5 (b) 18

(c) 16.95 (d) 15.24

17. A fair dice is rolled. Probability of getting a number greater than3 1=
1 .
()0 (0 3 ©F . e

18.1f 2 cos 38 = V3, then the value of B is
(a) 60° 43 30° (Yo U5

Dlractlons In the question number 19 and 20, a statement of Assertion (A) is followed by a
statement Of Rmon (R). Choose the correct option.

;(R) Probabﬂity of happening of an event = Number of trials in which the event.
Jappened / Total number of trials.

a)fﬂoﬁ'Aaseﬂbn {A) and
ssertion (A)

r'j(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the correct expla
_ofAssartion (G5

(c) Assertion (A) is true but Reason (R) is faise
(d) Assertion (A) is false but Reason (R)t is true

Reason (R) are true and Reason (R) is the correct explanation of i
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Suppose you drop a die at random on the rectangular region S
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i ' 2m?
jlity that it will land inside the circle of diameter

What is the probab

22 Prove that (1 + tan? 8)(1 + sin B)(1 - Sin g)=1.
h Or

o .3 o = ;
Determine the value of x, such that 2 cosec” 30° * csin? 60° - > tan? 30° = 10

23, 1f the 3rd and oth ters of an AP are 4 and - 8 respectively. which term of this AP s 26107
_3x + p =0 has distinct real roots, then find the value of p-
-3+ P C
of radius S.cm,__tt.ng_n find

°f5°' are drawn to a circle

ons of 3 marks each
ape of a sector of a circle of radius 80 m
madoasm in theﬁguge.
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30, In the given fi
that PP" = %Q-' gure, PP* and QQ!

are the wo common tangents of the two clrcles. Show

V'31.Soweforx.‘2(’-x"+f—;- —25(X2) =5 ) b

2x+3

~ Section D consists of 4 questions of 5ma
nder on which a cone is surmount
d 4 m and slant heig

Section-D
rks each

ed. If height and diameter of
ht of cone is 2.8 m, find the area of used
f air within tent. 6°57 “ 2 Sl

; in making this tent. Also, find the volume O
23642

rface of a lake, the angle of elevation of a bird is observed
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33, From a point, 36 m above the su _
f its image in the water is observed to be 60°. Find the
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i) ADCB = AHGE (iil) ADCA ~ AHGF.
Section-E
Case study-based questions @

TCS and he is sincere and
ry in funds

€D _ AC
(OF il

re compulsory s ines
36, Vikas is working with dedicated to IS work. He paY
for his future.

on time and invest the some amount of his sala

ji%;g;mte of 12% simpie interest and some other amount at the
He recelved yearly interest of Rs. 130. But, i he interchanges the
ave received Rs. 4 more as interest. On the basis of above
e p and at 10% be g Then, formulate the required
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